
Modèle | Nome del prodotto | Modell | Nombre del producto | Model: BG-Metal Enclosure 
Numéro de modèle | Numero del modello | Modell-Nr. | Número de modelo | Model number: 12748
Poids | Peso | Gewicht | Peso | Weight: 41 kg
Dimension | Tolleranza | Maße | Dimensión: 90x50x38 cm 
Éliminer le contenu conformément aux réglementations locales | Smaltire il contenuto in conformità alle normative locali 
Entsorgen Sie den Inhalt in Übereinstimmung mit den örtlichen Vorschriften | Elimine el contenido de acuerdo con la 
normativa local | Dispose of contents in accordance with local regulations

BG - Metal Enclosure

4x élément de pied | elemento piede | Fußelement | elemento de pie | foot element
1x support de base | supporto per pavimento | Abstützung Boden | soporte de suelo | base bracket
1x élément de base | elemento del pavimento | Bodenelement | elemento de suelo | base element 
4x éléments muraux (dont 2 perforés) | elementi di parete (di cui 2 perforati) | Wandelement (davon 
2 Perforiert) | elemento de pared (2 de ellos perforados) | wall element (of which 2 perforated)
2x élément de porte (1x perforé) | elemento porta (1x perforato) | Türelement (davon 1x perforiert) | 
elemento de puerta (1x perforado) | door element (of which 1 perforated)
4x Charnière | cerniera | Scharnier | bisagra | hinge
1x Elément de toiture  | elemento del tetto  | Dachelement | Elemento de techo  | roof element 
2x Support pour panneau solaire | supporto per pannello solare | Halterung für Solarpanel | soporte 
para panel solar | holder for solar panel
52x Vis à tête cylindrique M6x16 | vite a testa cilindrica M6x16 | Zylinderschraube M6x16 | tornillo de 
cabeza cilíndrica M6x16 | cheese head screw M6x16
52x Rondelle | rondella M6 6,4mm | Scheibe M6 6,4mm | arandela M6 6,4mm | washer M6 6,4mm

instructions de montage
istruzioni di montaggio
Montageanleitung
instrucciones de montaje
assembly instructions
FR - Avant d‘utiliser le produit, lisez les informations contenues dans le mode d‘emploi et respectez toutes les 
instructions données.
IT - Prima dell‘uso, leggere le informazioni contenute nelle istruzioni per l‘uso e rispettare tutte le indicazioni 
fornite.
DE - Lesen Sie vor dem Gebrauch die Informationen innerhalb der Bedienungsanleitung und beachten Sie alle 
mitgelieferten Anweisungen.
ES - Antes de utilizarlo, lea la información contenida en el manual de instrucciones y respete todas las 
instrucciones facilitadas.
EN - Before using the product, please read the information in this manual and follow all instructions.

Coffre en métal pour les pièges Biogents 
Armadio metallico per le trappole Biogents  
Metallgehäuse für Biogents-Fallen
Caja metálica para las trampas Biogents
Metal Enclosure for Biogents Traps

Que contient ma boîte ? | Cosa c’è nella mia scatola? | Was ist enthalten?
¿Qué contiene la caja? | WHAT’S IN the BOX

8x écrous hexagonaux M6 autobloquants pour la fixation du module solaire | 
dadi esagonali M6 autobloccanti per il fissaggio del modulo solare | 
Sechskantmutter M6 selbstsichernd für Solarmodulbefestigung | tuerca hexagonal 
M6 autoblocante para la fijación del panel solar | hexagon nut M6 self-locking for 
solar module fastening
16x écrou hexagonal M5 pour la fixation de la charnière | dadi esagonali M5 per 
il fissaggio della cerniera | Sechskantmutter M5 für Scharnierbefestigung | tuerca 
hexagonal M5 para la fijación de la bisagra | hexagon nut M5 for hinge fastening
1x vis moletée M6 (pour la fixation de la paroi intermédiaire) | vite zigrinata 
M6 (per il fissaggio della parete intermedia) | Rändelschraube M6 (für Fixierung 
Zwischenwand) | tornillo moleteado M6 (para la fijación de la pared intermedia) | M6 
knurled screw (for fixing intermediate wall)
1x douille de guidage pour le passage de câble des modules solaires | gommino 
di guida per il passacavo del modulo solare | Führungstülle für Kabeldurchführung 
Solarmodule | pasacables guía para pasacables del módulo solar | guide grommet for 
solar module cable grommet

Manufacturer: 
Biogents AG

An der Irler Höhe 3a
93055 Regensburg

Made in Germany

Données techniques | Dati tecnici | Technische Daten | Datos técnico | Technical Data



A B

C D

2

Installation | Montaggio | Aufbau  
montaje | ASSEMBLY



Installation | Montaggio | Aufbau  
montaje | ASSEMBLY

E F

G H

I J

3



K L M

N O

4

 

IT   PAP22 | Libretto

Raccolta carta

Verifica sempre le disposizioni del tuo Comune. ES

12284-ver1

Installation | Montaggio | Aufbau  
montaje | ASSEMBLY

Contact | Contatto | Kontakt | Contacto
Biogents AG, An der Irler Höhe 3a, 93055 Regensburg 
Allemagne | Germania | Deutschland | Alemania | Germany 
www.biogents.com
e-mail: sales@biogents.com

Avertissement – Consignes de sécurité |  Indicazioni di sicurezza e avvertenze |  
Sicherheitsvorschriften und Warnungen | Instrucciones de seguridad y advertencias 
Safety instructions and Warnings

Le coffre en métal ne doit pas être utilisé, sans surveillance, par des personnes (y compris 
des enfants) aux capacités physiques, sensorielles ou mentales réduites, ou manquant 
d’expérience ou de connaissance, sauf si une personne responsable de leur sécurité leur a 
expliqué comment l’utiliser. Biogents décline toute responsabilité pour les dommages résultant 
de l’utilisation de pièces ou accessoires non originaux.

Questo armadio metallico non è inteso per l’uso da parte di persone (bambini inclusi) con 
capacità fisiche, sensoriali o mentali ridotte, o senza esperienza o conoscenza, a meno che non 
siano assistite o istruite su come utilizzare l’apparecchio da una persona responsabile per la 
loro sicurezza. In caso di utilizzo non conforme e di alterazioni del prodotto, il produttore non si 
assume alcuna responsabilità.

Das Metallgehäuse ist nicht ausgelegt für die Benutzung durch Personen (einschließlich 
Kindern), die in ihren physischen, sensorischen oder geistigen Fähigkeiten eingeschränkt 
sind oder die nicht über das Wissen und die Erfahrung verfügen, das Produkt sachgemäß 
zu bedienen. Biogents übernimmt keine Haftung für Schäden am Produkt, die durch die 
Verwendung von nicht originalen Zubehörteilen entstehen.

Esta caja metálica no está diseñada para ser utilizada por niños ni personas con  
capacidades físicas, sensoriales o mentales reducidas, o por falta de experiencia y 
conocimiento, a menos que se les haya supervisado o instruido sobre el uso de la trampa 
por parte de una persona responsable de su seguridad. El fabricante no se hace responsable, 
en todo caso, si el producto se utiliza incorrectamente o si algunas variaciones se hacen al 
producto.

The metal enclosure must not be used by unsupervised persons (including children) with 
reduced physical, sensory or mental capabilities, or lack of experience or knowledge, unless they 
have been instructed in its use by a person responsible for their safety. Biogents accepts no 
responsibility for damage resulting from the use of non-original parts or accessories.

FR

DE

IT

es

EN


